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SAMPLE PAPER - 2008

Class - X

SUBJECT - MATHEMATICS
                                       SECTION-A
1) Use Euclid’s algorithm to find the HCF of 867 and 255.                       (3)

2) Determine whether the given values are zeroes of the polynomial 

                            p(x) = px2 + 4(p2- 3q)x – 12pq, 

                               x = 3q                      

p         ,     x =2q.

3) Solve 7(y + 3) – 2(x + 2) = 14,   4(y – 2) + 3(x – 3) = 2.

4) Determine whether x = √3 and x = - 2√3 are solutions of the equations 

     X2 - 3√3 x + 6 = 0.

5) Find the 10th term of AP – 40, -15, 10, 35, ………                       (185)

6) If cos A = 2, find the value of cotA+   sinA  
                                                                   1+cosA                               (2)

7) The distance between the points p(x, - 1) and Q(3, 2)is 5 units.Find the value of x.  

                                                                                                                        (7 or -1)

8) Given ∆ ABC ~ ∆ PQR.Find PRand QR ifAC=15,BC=9,AB=12,PQ=8.                              (10cm, 6cm)

9) The length of a tangent from a point P at a distance 5cm from the centre of the circle is 4cm.Find the radius of the circle.                                              (3cm)

10) Find the area of a circle whose circumference is 22cm.                  (38.5cm2)

                                               SECTION-B

11) 2circles each of volume 64cm3 are joined end to end.Find the surface area of the circle.                                                                                                           (160cm2)
12) A card is drawn from a pack of cards.Find the probability that it is a jach of spade.                                                                                                          (1/3, - 2)

13) If HCF (306, 657) = 9, find LCM (306, 657).                                 (22338)
14) Find the quotint and reminder when y3 – 6y2 + 9y + 7 is divided by y – 1.Also verify by division algorithm.                                                         (y2  - 5y + 4, 11)

15) Solve by cross multiplication method 2ax + 3by = a + 2ab, 3ax + 2by = 2a + b.

                                                                                                   (4a-b/5a, -a+4b/5b)

                                             SECTION-C

16) A dealer sells an article for Rs 56 and gains as much percent as the cost price of the article. What is the cost price of the article?                                          (Rs 38)

17) A man saves Rs 320 during the 1st month,  Rs 360 in the 2nd month, Rs 400 in the 3rd month.If he continues his savings in this sequence, in how many months will he save Rs 20000 ?                                                  (25)

18)  a) Using trigonometric identities write the following expressions as an integer.

          2 tan2A + 5 cosec2A – 2 sec2A – 5 cot2A.                                (3)

       b) Evaluate       Sec2 (90 – θ) – cot2θ    +      2 cos260 – tan228. tan262
                                  2( sin2 25 + sin2 65)               3( sec2 43 – cot247)                 (2/3)

19) If the points ( - 1, 3), ( 1, - 1) and ( 5, 1) are the vertices of a triangle, find the length of median through the first vertex.
20) If D and E  are respectively the points on the sides A B and AC of ∆ ABC such that AD = 6cm, BD = 9cm, AE = 8cm and EC = 12cm.Show that DE ║ BC.

[image: image1.png]20) If D and E are respectively the points on the sides AB and AC of ∆ ABC such that AD = 6cm, BD = 9cm, AE = 8cm and EC = 12cm. Show that DE ║ BC.

21)In the fig: if PQ=PR ,p.t.QS=RS.


22)Draw a line segment of length 6cm in the 
    ratio 4:3.

23) A horse is tied to a corner of a field which is of the shape of an equilateral triangle. If the length of the rope by which it is tied by is 7cm, find the area of the field over which it can graze.                                                    (25.667cm2 )

24) How many spherical bullets can be made out of a solid lead whose edge measures 44cm each and bullet being 4cm diameter.              (2541bullets)
25) Find the mean of the following distribution. Also draw the cumulative frequency curve.

	class
	Less than 0
	Less than 10
	Less than 20
	Less than 30
	Less than 40
	Less than50
	Less than 60
	Less than 70

	No: of observation
	0
	4
	8
	15
	35
	47
	55
	60


                                                                                                                            (37.66)
                                                  SECTION-D

26) If the radii of the ends of a bucket 45cm high are 28cm and 7cm, find its capacity and surface area.    

                                                                                           (48510cm3, 5616.38cm2)

27) The cost of planting the grass in a circular part at the rate of Rs 4.9/m2 is Rs 24640. A path of uniform width runs around the park. The cost of gravelling the path at the rate of Rs 3.50/m2 is Rs 3696. Find the cost of fencing the path on both sides at the rate of Rs 2.10/m2.                                                (1108.80 Rs)

28) Draw a pair of tangents to a circle of radius 6cm, which are inclined to each other at an angle of 450.

29) AB is a chord of length 24cm of a circle of radius 13cm. The tangent at A and B intersect at point C. Find AC.

30) State and prove Pythagoras theorem. Given ∟B of ∆ ABC is an acute angle and AD ┴ BC. Prove that AC2 = AB2 + BC2 – 2BC. BD.                                                                                                           
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